®

w

»

o

Reasoning Ability

734" is related ‘12" in the same way as
o—

® 14
(@ 38

,o,l.smrqhyw-uununmd
ﬂnmulb!nlduﬂ

(d) Doa inadequate.
s written as ‘SAD%F" and

©) AFHS
(@ BHFS

“+7, K, denotes ", ‘T denotes ‘<’ and
then—

unt
(@ Datainadequate

ina certain way
50 form a group. Which is the one that does not

(v) Flower
23578934576193 9 (@ Petal
5748325788925

(a) None (®) One
© (d) Three
(©) More than three



15. Four, like inway L
and so not I
belong to that group? L Some flowers are trees.
(@) Cuckoo ) Crow @ Only I follows
© Bat @ Parrot ©) Only I ollows
(€) Sparrow (©) Only Il follow:
16. How many such pairs of letters are there in the word (d) Only Tand I follow
TERMINATE each of which has as many letters (e) None of the
21,
(@) Nore ® One Some chairs are sofas.
© Two @ Three Conclusions :
(€) More than three L Some sofas are desks.
17, Ifif English n
it

letters of the word STREAMLINE, which of the
{ollowiag Wil b the hied éter ofthat word 71 o

such word can be made, gi e answer and if
oretha ome such wordcun b ade ive - o8 e
@E ® A
©M @ X

Directions (Q. 18 to 24)—In each of the questions below are
b ber

(@) Only Land I follow
() Only lland I follow
(©) Orly Land  follow
() Allfollow
@ Noneofthese

22, Statements: Some cyclesare bikes. No bike is flower.
Al goats.

Conlusions :
1. No goatis cycle.
L

1 Tand 10,
if

. Read

logically follows from the given statements disregarding
commonly known facts.
8. Statements : Some blades ar papers. Some papers
b sme books are pens.

Conclusions :

L Some; papers.

I Some books are s

me pens are bi

® Onlyllclk\ws () Only I follows
() Only M follows (d) None follows
(©) Only lland m follow
st

m
(2) None follows
(©) Only Il follows
(©) Only Wand 1 follow
23.. Statements : All rivers are hills. All hills are rocks.
Some rocks are sticks,
Conclusions ;
L Some sticks are hills.
IL Some sticks are rivers,

(6) Only I follows
(@) Only I follows

me rocks e
@) Nonefollows Only T follows
(© Only ITfe & Only Il follows

follows
© Onlyll and iy
Statements : All tyres are cars. All wheels are cars, All

IL Some RS e

) Only Land Il follow

19. Statem All marbles ¢
arebuses, Some bucesars i Conclusions:
Conclusions: L Alltyres are trains,
L Some trucks are pencils.
1L Some buses are pencils :1: it “m“
ILNo truckis pencil. LSl

() Only Ifollows
(®) Only Il follows

(9) Only either Lor 1l and I follow
(@ Onlyeither Lor Il follows
(©) None of these

"
Tand T oln () Oty Tt
o S Al e e

Hions (Q. 25 to 29)—In cach questions below is given

pretsper b ok by four combinaions of symbols and

(A), (B), c) an

the combinations coneety tairt groupe etersbued

flowers. Al flowers are streets.
Conclusions :

mmbmllmn as the answer. I none of
correctly e
e e

of the four combinations
Sents the group of letters, mark (e) i.(e) ‘None of



@©21745

 ©s72188
(@ Noneof these.
weTMBL

(@) 546%73
(©346%73




As per the rules followed in the above steps, find outin

(English Language )

given input.
3. Step i bear cold dish 816331  Directions-(Q. 41
.y more steps will be required to complete. p
Wharermngtaet
(@) Three ) Four Once upona time, there lived a robber in a village. One.
(© Five @ six day, he stole a temple bell and ran towards the forest.

©) None of these:
. Input: 72 59 37 go for picnic 24 journey How many

ATiger heard the ingle ofthe bell and became curious
to locate the sound. As soon as he saw the robber, he
j “The bell fell

(@) Three ®) Four

(@ Fve @ six
6o of i

. Input ower 3412 conly Height 4156 Which of
the fwllwwln! will be step IIT

(0 121ice 34 heght flower costly 4156

(b) 12 nice 34 height 41 flower costly 56

(0 12 ice 34 fer cnslly height 4156

(@ 12 mice lower 3 couly heght 41 56

(@) None of these

Dircctions

jumped
onthe b ys.a
passed through that way: They spoted the bell and
carried it o their home in the for
They found the jingle of the bell very interesting.
ity every one of them became very fond of the
bell and started playing with it. After every tiring day,
the monkeys would sit on the top of a hillin the forest
in the night and enjoy the melodious sound of the bell
‘The people of the village were afraid of the noise. Soon.
frerward:

(Q-Nos. 36-40)

contains five ' and . The
fiveproblemfguresonthe et e consiude  series You have
the i

imed, Certaaly ’
spirit around here that kills human beings and then

sixth e ancberef i
“Answer Figure’ is your answer.

36. Problem Figures Answer Figures

alelFiolé] GlelAlo)

) B © @ @©
37. Problem Figures Answer Figures

m]m[am )

@B © @6

demon
was haunting their village. Without giving any second
though, people stated leaving the village in terror and
settling in a new place. However, there was an
intelligent and bold woman in that village. She thought
o herself, "I don'tbelieve that a demon s haunting this
village. I will find out who s ringing the bell" Late in
the night, she went into the forest bravely and found
hata roup of monkeys wasplaying aboutand ining
o s he woman knew th sereo the el she et

(a? ®) (c) @ (&
kew =
(TIETTOEE
(@ Lh! (c) (d) [}

40. Problem Figures Answer Figures

GREEE

Majesty 1T
1o evil spirit in the vlﬂAgc and the cause of all the
trouble lies somewhere el

was also terrified of the hoax
thatprevaile in the village; granted she request of the
oman.

The w omanboughlumu:h eas, groundnuts an
fruits with that money a3 she cbuld. She .

®
all the eatables and hid herself at some a,sum': She
keptawatch on the monkeys from a d
s and when the monkeys saw the : T they

ittt

@ B ©

them. They ran to pick the eatables. The woman picked



the bell quickly and rushed. ) Thatthere was a man-eating tiger in the forest
sxveﬂcbd‘-h—‘ R been killed of a curse as he had

§. Whyﬁdlhtvﬂlwmu‘ {
~ofanew place
w@mywmmmdni
 eatingtiger
(£) They weve terrified of 8 She needed maney for moving away from the
e nted village
(©) The village was cursed by ex to buy eatables to attract the monkeys
‘could not find the lost bell o the demon in exchange forleaving the vllage
{d) They were fed up o f er to buy a new bell for the temple and end
i e oo o
Jate i the night? following is true in context of the

forest

B B Tnmansﬂh!d!mmlﬂ s
here else

(© T over to ide from the

drop!
q:-ibokllhh:vilhge
wanted to collect all the eatables kept under

(&) None of these
€2 Whaidid e vilegers presens
robber

(a)m.mm.xeysmmmu

) Tt vl pii had been Kl
and haunting the village




51. SPOTTED

@ Wiltereste e

@) Pt Supplied ) Is creating few
QTahed ) sppte & Bosgior,
e @ Hascreds
fri e ) No correction required
i 0. Axlwnl bour have loud parties every night, sh
o ST &) Rewaid mmf’.&‘.,.n..... She, pukf-mpm..pmm it
(©) Give (d) Generate (a) Because her neigh
(©) Request ® Eventhough - neighbours
5. WATCH (©) Despite of neighbours
(@) Observation (&) Impression @ nstadof hestshbous
(c) Record (d) Period (e) No correction required
(©) Timepiece Directions-(Q. 610 65) In each question below a sentence dividec
Dircctions(Q. ®),(0)and (), On
i ngly spelt
54, DROPPED orinappropriateif any. The lterof that part i your answer.Ifal
. ,
@ Raised
) Sy e the sentence, mark ) ., ‘Al orrct as your answer.
(@) Picked up 61 Drivers a) who exceed (b) the speed limit () are duly
55. ADMIRED find (d) by the traffic police personnel. Al correct (¢)
(2) Neglected (b) Criticised 62.. This project a)is initsfinal faze (b) of completion and
 Disagreed ) Punished fsexpeced () tobeready (4 by theend o i yer All
rect (e
(o) Reared 6. Thebarsd (@) of governors meets (b) once every month
Directions-(Q: 56 1060) Which f th phrass u), (), ¢ nd (0
iven below each sentence should 6.
bold i the semence 0 make it grammaticlly comeet 7 1f e+ st sk Sy p s g Al comet )
sentence s corectas i i given and "No comecton i requied’, 65.  He has ot been able 1 attend (s)the offce (b for last

mark (¢)as the answer,

86. Tlooked everywhere as my keys, but I couldn't figure
out where I had put them,

(@) Formy key () As minekeys
(©) Formy keys ) Finding my key
(©) Nocorrection;

7. Thenew restauran i m... good business becaue it
of good quality at lower rates than other
ettasrant n o e

four @ daysbecuus el suﬂm ) from fever. All
correct e

3
]
f%
Bt

answe. s ¢) e. ‘No Eror”. Ignore the errors

ofpactusion f sy

6. The father divided (a)/ the property equally (b)/

his son ( €/ and daughter (d)/ No error (¢)

67. Lam thinking (3)/ you were aware (b)/ of the rules and
mgullhnn (c)/ Sk joining (d)/ Noerror (¢)

68, 1knows  very good doctor (a)/ in my village (b)/ who
will e abl g (€ cur yous At 0y foerror (¢)

69, Tam notscared (/ mbehv:mng (©)/ in the dark (c)/

i Noerror (¢

world

(a) But was disliked

(b) Rather is disliked

(c) Because of dislike

(d) Butis liked

€) No correction required

70. uner repai, (b)/ we
regrefor(c/ theinvonverience aused (4 No rrrt

Directions-(Q. 71 to 75) In each of the following questions six
), 3)(®).(5) and

By using allthe six words, each only once, you have to frame a

o he.

5. I

leaders.

the anewersheet



that many people in the world have to
4

such as food and shelter.

of 3= 25% of a% of b, then what s b?
) 16/25
@2/5

ofacity s increased by 30% and thus
‘Whatis the original population?
© 64200

Directions-(Q. 7610 80) Pick out the mosts
given words o il n the blank to make the s
complete.




H

g

(©) None of these:

7 —
e vy g r— .
0 T hereston oo, 10% o e emtaim o cots s
Sehienih R o530 i
.

is incom(e) His i i
E5'30% s o e nrnaed s g e
What is the percentage change in his savings?
(@) 20% fall
(© 20% rise
(©) none of these.
" The price of petrol i increased by 25%. By what
percent the consumption be reduced to make he
expenditure remain the same?
®) 33.33%
(@) 23%

(@) 4% rise

(©) None of these:
The side of a square is increased by 20%, The
percentage change in its area is

) 44%

@ 31%

(@) 20%

) 36%
(@) None of these:
" ihe length ofa rectangle i inereased by 33.33%, by
what percentage should the breadth be reduces o)
‘make the area same?
(@) 20%
(© 25%
(@) None these
- In an election between two candidates, A and BA
136% of the votes and won by 48000 votes, Fing
the total number of votes polled if 20% of e yer.
were declared invalid
(@) 500000
(©) 600000
(©) None of these
Poneduction of 10% in price of sugar enablss a
housewife 10 buy 5 kg more for Re. a0/~ Find the
reduced price per kg of sugar,
@ 5/-

() 3333%
@ 19%

(@) 700000

© 6/~
(©) None of these

- From a 201t olution of at and water with 205, salt, 21t
of water s evaporate(d Find the new o coneepaiaics
of sal

t.
(@) 20% (b) 23%
© 25% @ 31%

© Nonéofthese

I alis of weighis of candidates appearing for, police

Selctions the weightof A is marke as 5 kg iroteny
8 o

income
(a) 10000/~ (®) 15000/~
(©) 20000/- ) 25000/~

(€) Noneof these:

A shopkeeper offers three successive discounts of

10% 20% and 30% to a customer. I the actual price of
the item is Rs. 10000, find the price the custome has

t0pay to the shopkeeper.
(@) 5040/~ (®) 4000/~
(©) 6000/- (@) 7000/-

(©) None of these

* 14101t solution of water and alcohol containing 10%

alcohol s to be made 20% alcohol solution, find the

volume of alcohol to be added

@11 ® 1251
© 151 @21
(© 251t

Al twice B and B is 200% more than C. By what
percentis A more than C?

(@) 400 ® 600
© 500 @ 200
© 150

" in an examination, a student secures 40% and fails

0y 10 marks. If e scored 50% he would pase by1s
marks. Find the minimum marks required fy pass the
exam,

(@ 250 ® 100
© 110 @ 125

(@) 138

ha220% aler than B, by what percent s B shorter
than A?

(@) 20% ®) 25%

(©) 16.66% @ 23%

(©) None of these

" Ihe Population of a town increases ata ate of 10%

forevery year Ifthe present population i 12100 i
the population two years ago,

(@) 11000 ®) 9800
(© 10000 @ 11125
(@ 10120

e contains 15% salt, I 301t

0f46.4 kg, Find the required
@ 30, ® 20
©24 @ 32

(€) None of these.

water is
Tolentration becomes 20% salt. Find the original
the liquid before water evaporate(d).
12010
(@) 3001¢

(e) None of these



hikes whereas B got 2
percentage difference in the |
@ 16% ®
© 10%
Lo mapored mHmylsMsPﬂhlnsM“ Soofthe total
sk .. otudnts e majore i EnglshLieratre s el
populatioa - nqu.w,.umu/ ts have majored in
Engih L

rature,and 3% o the total mumber of

History are approximately what
‘number of students majoring in

)61
i @57

have majored only in Politics?
®)575

(@455

(®)1495
(d)2050

ex of students have majored in which
() Philosophy
(@) English Literature

(®)600
@s21

®)8%3
(@888 .



(@ Formation of an enquiry commission to probe

117. 37469 x” 668 =7
(a)

por
(b) Dissolution of Bihar Assembly
(©) Setting up another commission in place of
hukan Commission
(d) Setting up a commission headed by an eminent
diplomatto investigate recent Bomb Blast in Delhi
instead of allowing CB to do the same
(© None of these
123. Which of the ollowing is true about the recent
discussion on the arif reduction formalae proposed
atthe
(@ India accepkd the formulae presented by South

300 (350

(505 @425

@575
118,25 008 + 199222

@15 ®)08

©0010 @006

@21
Diections Q. 19120 Eachauesion o ollove by two
stemens 1 givenin
the st e question. You should

S knowledge of Mathematics to choose
between the possible answers,

Give answer (a). i the star

presented by it. South Africa was given the
responsibility to find an amicably acceptable

solution’
®) India along with several others presented a
the

the question, but the Statement A alone is not suffcient

Giveanswer (b). i the s uremmCalunzusuchlen,mlnw: the
‘question, but the statement A alone s not suffcient

accepted by the USA but
refused to accept it
© Dok and EU presented a formulae which
is not acceptable to India
@ India

Give answe
o answer the question,
Give answer (d). i cither the statement Aalone or the satement B
alone IS sufficient to-answer the question,

WTO as it is not ready to sacrifice the interests of
the gricuturts of India
(@) Ne
125, Which of !h( following European Countries nas

Aand 8 ogether, s need even more data,
115. How many women can complete a piece of work in
days?
e women can complete the same piece of work in
20day
2 10men can complete thesame piee of workin 12
days.

120. Whatis the rate of i interestpcpa.onan amountof R
12,000/- deposited in a bank
1. The difirencebetween ™ simplinterestan hie
‘compound interest s Rs 172.30.
2. The simple interest for two year

General Awareness

121. Food For Oil’ programme running in which of the
. . Y

s Rs2,880

@) ltaly (o) Germany
(© Spain (@ France
(©) Noneof these

125, Sunil Mnul s adjudged the Business Leaderof the
Year' ich of the following news paper/
T
(2) Business world
©) Ind

126: Thomas C Scheling and Robert . Aumann won the

Prize’ for their contribution in the field of—
(a) l"hvslu (©) Economics
(©) Chemistry (@) Literature:
(e) Noneof

127 Indis recenty decided toconduct a it sir exercise
‘which of the following countries ? (The exercise.
was in news recently as a group of people was not in

(@) Britain
(©) China
() UsA

(©) Sri Lanka
() France

4;) Kuw:m (®) Iran
(d) Lebanon
4&) Mo these
122. The ‘Supreme Court of India’

of the following proclamations unconstitutional ?

5. o
atleast—



%) Spmaebie
(b) 7 per
(9 9 perma

e et
@ 11 permanent members inc

e
(@ Himachal Pradesh. () Punjab
© Gujarat @ Ha
(e) Jammu &

 130.R. K. Surati who won four

, 8 !

© Liquidity
(@) PO

133, Which among the following.

134, ‘Nalchik’ which was recently in n
(a) ltaly (b) France.
ﬁ gm'nuny (d) China.
© Russia

135. Anju Bobby George won Gold.
Atheletics Meet held recently.
was organized in—

(@) South Korea
(9 China
(@) None of these

136. Who amongst the following is the C1
Central Information Commissi
under the Right to Information Act?
(a) Sam Pitroda
(®) M.S. Swaminathan
(©) Rakesh Mohan
(@) Wajahat Habibullah
(@ Noneof




(©) Amitabh Bachchan

@ Prot. @

© Dr. A J. Abdul Kalam
146.JusticeYogeh KmarSabharwal washemew i

(-; Allah-b-d High Court

(@ Kolkata High Court

(©) Supreme Courtof India
147. Raman Magsaysay Awards arenotgiven n whichof

the following categories

(2) Government Service

() Community Leadership.

(© Journal

(d) Public Service

(© Music
1 1d P

isa citizen of —

@) China ®) Britain

(© UsA @ Russia

Cana

(©) Canada
149. Which of the following countries is not the member
AARC?

of SAAR
(a) Bhutan (b) Maldives
(©) Sri Lanka (@) Surinam
(© Allare

150. Veselin Tapolev who became the World Champion
recently, i ssocated with whichof the folowing
games/spor
(@) Chess
(©) Snooker
(©) None o

151 Which of the following s not an anti inflationary
measure of the Coremment
(@) Strictfiscal discipl
) Ritboaiatio e Duties

(b) Golf
() Badminton

(@) None of

155. Which of the following universities of North-East

fa Central University ?
(@) Manipur ® Shilong
(©) Guwahati (@) Mizoram
(@) Noneof
56. Who amongst the following is not a member of G-87

@ Australia ® Canada
© Jay @
(@ UsA

157. “Quartz’, which is used in omaments orin industries,
isa crystal containing—
(@) Silicon Dioxide

158. A farmer engaged in Organic Farming will never use
which of the following manures ?

(@) Compost () Sewage Sludge
© Condung. .. @) Urea
(©) None of these

155: Which ofthe following s Cricket elted erm ?
i ) Scissor Kick

(,, Dbl
160. Nirmal Verma who died recently was a famous—
(a) Painter (b) Classical singer
(d) Politician

(©) Author
(€) Social Worker

Computer Knowledge

m) Issuing new currency notes /coins
) Rationalization of Import Duties
152.The headquarters of the World Trade
anization (WTO) is in—
(a) Vienna (b) Geneva
(©) New York (@) Nebraska
(©) Noneof these
153. Kyat’is the monetary unit of—
(@) North Korea fb} Israel
@) Mongolia

54. Which of the following is the full form of ‘PPP 2
(@) Purchase Price and Power

component.
(@) Tntegrated circuit  (b) Mieroprocessor
(© Transistor (@ Opical fibre
(€) None of these.

162. Super computer PACE was developed by—

(@ BARC. Mumbai_(b) 111, Mumbai
(©) s, Bangalore. *  (d) NAL, Bangalore
(©) None of these

63, The super computer developed by C-DAC, Pune—
@ Anupam ® Paam
© Flosover @ Mach
(© None of these

1



(©) Utility software
(©) None of these

I
@ Uiliy soft
(©) None of these.
The work done by operating system to!
in ull working condition is called:
(@ Activation

(€) None of these
4.

‘are displayed in the form oficon:




189,

190.

®) Yellow pages
(© Intenetsites
(@ Listof existing customers
(@ Allofthese

®) .Aoneday function
(© Aonetimeact
(@) Required only when a new productis launch
(@) Noneof these

() Effectivelead generation
() Sales Cal Planning,

() Territory Allocation

(d) Effective communication skills
(© Allof these

Market Information means—

192.

(@) Share market prices

(®) Price fluctuation in the market

(©) Shareisstie foated by the company

(d) Share of wallet

(@) Share of business of the company as compar
topeers

(@)

®) Information about marketing taft
(© Information regarding Share market
(d) Knowledge ofrelated markets

(e) Allof these

. Marketing channels mean—

(@) Delvery period (o) Delivery time

. Current Accounts can be freely opened by

(@) Intemnet marketing
() Telemarketing

(@ Internal Marketing

(@ Relationship Marketing
(@ Allof these

© De p

© Allofthese

“Buyer Resistance’ means—

(@) Buyer's interest in the product being sold
(®) Buyer fighting with the sller

(©) Buyer's hesitation in buying the product
(@) Buyerbecoming a eller

(© Buyer buyingthe product

. Marketing s the function of—

(@) Sales persons
() Production Department

(©) Planning Department

(@) Team leaders

o, Acallectv encionof it

m nms«v-qu
() Direct elling Agent

(© Double Selling Agent

(@) Distribution Agency

(@) None of these

Service Marketing is resorted to in—
(@) Al manufacturing compas

(b) All production houses

(© Exportunits

(@ Insurance companies and banks
© Allofthese

Marketing is—

(@) Askilled person's ob

() AlINRIs
(®) All businessmen

(©) Govemnment departments
() Firms and Companies
() HUFs

. Buyer Resistance can be overcome by—

(@) Cordial relation between buyer and seller
) Good negotiation

(© Persuasive communication

(@) Good aftersalesservice

© Allofthese
Cross-selling s useful for canvassing—
(@ Current Accounts

() Fixed Deposit Accounts

© Studentloans

@ Carloans

(© Allof these

Market segmentation helps to determine—
(a) Targetgroups (b Sale price

(© Profitlevels . (d) Productlifecycle
© Allofthese

. The target group for Car loans is—

@ Aubomlnuhcmnngmmp«m&
alers
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